AN

St Catherine’s School

Year: 11
Subject: Extension 1 Course
Time allowed: 55 minutes

Date:  February 2004

Name: Winnie Yao

‘Maths Teacher: . Bose ]

Directions to candidates:
* All questions are to be attempted.

* Marks may be deducted for careless or badly

TEACHER’S USE ONLY

arranged work Total Marks

* All necessary working must be shown in every
: ‘Topics Total

question. _ Arithmetic, Algebra 4
* The answers are to be written on blank & Equations 02 S"‘

examination paper that is provided. \ 26
* Approved calculators and geometrical

: . Functions and

mstruments are required. Relations L

* Hand in your work in 2 bundles: \ YA 14
Section A, and Section B separately
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SECTION A
Marks
2
1. If (3w/1—2— 2\/_5_) = p+ q\/l_S,ﬁndpandq. 2
2. Rationalise the denominator 2
35
2+ 5
3. Convert 0.24 to a fraction in its simplest form. Show all working. 2
4. Solve for x: 1
272):—1 = 34-—.76
4. Find all values of x for which
- (@ 6+ 5x-x>=20 2.5
(b) -1s4-x<3 ‘ 2
2x-13
c <1 3
(© )
5. Simplify 3.5
X -x-9x+9 2% - x =1
2x* - 5x - 3 4x* - 1
6. Solve for x and y: 3
xy=1landx-3y=2
7. Is the function f(x) = —; ad ] even, odd or neither? 2
x° +
8. Find and confirm all values of x that satisfy 3

x+ 1] = 2x - 1




SECTION B

9. (a)  Sketch y = [2x — 3 showing x and y intercepts
(b)  Hence or otherwise solve Rx ~ 3 < 5 forx.
10.  Sketch y = f(x) for the function below.

-1 for x<-2

f(x) = {V4-x* for —2=xs2
x=-2  for x>2

11. (a) Sketch the parabola y = 3 + 2x — x” showing x and
y intercepts.
(b) State the domain and range of the above function.

(c) Using the above or otherwise, state the domain and range of

< 1
y=
V3 + 2x - X
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sersg




gll

0

o

YeAR I Exrewsion | —

S oLUTIonS

(3%2 2y5)°

= /08 - /2xJé0 +20
/28 - R4S

NG 2-1F

RN
&3-S

4 -5

¢S5 j

=/

) (=)

= +5~6Jé'

X7

i
??z 2 QY
77 ..

,i??

ozyc'c?
33

LFSx - x™ 2o
xX“-Sx -6 %50

(z-¢)(x+) %0

—( £ L 6

I\

FEB ‘o

Ix/z - 2x312x2/5 + xS

ACE

2

0. 2042424 ...
/OOX EoY 2Y2YTLF o
/OO)( - X =

. @

..l'ufé/' > X

S pil28 92729

- 3 () = HER

. 7)(97 - .

)(;7

é L/-x<3
-5 __< ~x <~/
5 2x> ).

@ @) EYREe e

| <x =5

()

x -2

(x-2x (2x-3) ¢ (x-2)*

< 2.

(2n-2) (x-2) ~ (%-2)% £

G- [zEeri ] €0

(x-) (2 - 3-z+§>—<

(&x 1) (x —5)

A
(2x+0) (=% )

- \17‘3)(»(')
ENZ

X F /);évg

(% S—

e 2_) x- /) 25 :— o \ e

(50 X -2*— 9x+7 : 2xt-x-/ _ .
24 -Sx-3 4zt —/

= w (x-0) Z9(x-0) o (ex -n)(ex#1) .

(2r+1)ot-3 )  (xts)(X=1 ) _




767 S {7 Ly TR Y

, . o L/%J = /3/ o

\l

\
1\
NN
b-,
0
LN
N

- 3 B Z’X T LR A= 2 o oa J‘o/r\____ . 20 =0 = nor‘d‘r?/‘i‘m
z=30r =/ i

e
- —(

'xlv’/

— fo) R —

O s e s
XAt (= 2x-t or = (xt)=Zx-)

= 2 —x =)= 2x=7
x = O

()




Vzaex-xz .

) 3—:‘2)( - JC )O

. ews

_from. WA Pm (o) MlEx<3

_foqy R A2 =0 S L2 L TR L

@ [a) J: By 2)( 7( e e

= - ( z- 2x 5) B i

e e o 7‘%« W LRX l/aLu,Q of 3tox-x* io é‘
- (X 3) (X—'L/) R — ;
//x o,

A<o /Dafodoo(ﬂ L7 LanCawl W h

S

Y srxxt

e mdrdmenn vadea of & 2

() D alk reat x.

for . /m{ vt x .
A= 'H} - i

- ff‘ ;2(’)"(’) e mara
R yky




